. CMES - 54

1. Starting from point P Satish walked 20 metres 1 ﬁgPﬁmﬁ%mzoﬂ.aﬂMﬂmml
towards South. He turned left and walked % a8 @ s 30+, wen | e awd g3 3l 204
mmﬁzs.ﬂethenwmdle&andmlked mla!gﬂ:mwmw‘ﬂ-mﬂ‘?ﬁs

20 metres. He again turned left and walked fpan 71 3in
40 metres and reached at point Q. How far Qs q!m ' ﬁg PE ﬁg . kS "
and in which direction is the point Q from the fewm 3 2 7
‘(,:i}ng :1 West (B) 10 m North (A} 206, . 10%, £8
m Nor
(C) 10 m East (D) 10 m West () 10%. 7 (0) 10%. 9
" A is a3 32-bit number, normally 2w 32-faeden 3, avra: sEf &
expressed as four octets between faansesssydagm A
the periods. 3‘”5 A (8) 2 1™
(A) 1P address  (B) Domain name (A) #3401, T § S
(C) Port (D) None of these (C) 9 (D) %8 & #1 78
3. Inindia Right to Property is a 3. v § wufe &1 saferwn @
(A) Constitutional Right (A) Hawrfye sfemn
(B) Both (A) and (C) (8) (A) 3 (C) 31 _
(C) Fundamental Right (C) srfysn g
(D) None of the above (D) 3Ivraa & & #1% 781
4. Who among the following belongs to level Il in 4. Frefafea § @ 99 gfo e 3 = d
the police hierarchy ? inai HTAT B
(A) Constabulary 7 (A
(8) Director General of Police (DGP) ‘?y—&m IS ATE gﬁ:m (Sisitdt)
(C) Deputy Superintendent of Police (DySP) - ) lﬁﬂ%@? I E%R; (Sreadt)
(D) Sub Inspector /(D) &
T et =0.2689, then the value of 5. 7fe _— =0.2689, d o8 F15H 20T
3.718 . 3.718 0.0003718
1 -
e N 13
0.0003718
(A) 0.2689 (B) 2689 A),0,2689 (B) 2689
(C) 2.689 (D) 26890 (C) 2.689 (D) 26890
6. Who wrote “Asthangasangraha” ? 6. ‘orermaue’ forwd forard ?
(A) Vishnusharma (B) Varahamihira (A) faepmat (B) sUEfER
(C) Vaghbhata (D) Vararuchi (C) amye (D) Iwf=
7. In this question, two statements are given 7. WA A, A Fua Ry e ¥ R ar
followed by two conclusions. Choose the 3 e fw e € | A Frsd el
conclusion(s) which best fit(s) logically, ifdhe w9 8 T 93 R |
Statements : ®UA :
1. SomeAareT. 1. FBA TR |
2. AllTisB. 2. 8fiT,B% |
Conclusions ; Freand
1. Some B is not A, | B B,ATE & |
Il. NoAis B, s I, § A BFE € |
(A) None of the conclusion follows (A) @1 # & o Freerd v 7€ e
Only conclusion Il follows (B) haret e 1 srgeron e B
clusion | follows (C) Faa |3§'3mm‘3
sions | an, (D) foreere | 3 11 S Srr @ #
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5.

10.

11.

Which of the following i

(A) Antivirus 8lsnota tYpe of Virys »
(B) File-infecting virus |
(C) Polymorphic virus

(D) Stealth virus

In which year India be.
United Nations ?

(A) 1965
(C) 1991

CaMe a mempe, of

(B) 1945

(D) None of the abo,
‘Inequality Report, 2021 v India’s Une i
Healthcare Story was releaseq by o
{A) Ministry of Home (B) NiIT} Ayog

(C) T Madras (D) Oxfam ingia,

Which of the following is an example
for day neutral plants ?

(A) Cucumber (B) Onion
(C) Carrot (D) Radish
What comes next ?

AN AID] 2

d
D

Find the missing number.
111

(A) (B)

() (D)

gy _l?
3'9" 81
1 1
A B) —
A 6561 (8) 6461
e 1
(B} e (0) 6571

(B) First Fit *
(D) Worst it

_ a;rsﬁﬁﬂ_"ﬁ%?
g, frafafed
(A) Qﬁ%ﬂa
(8) %aﬁ@
O T g !
(D) < ﬂ
MI‘M 1945
9. wid (8) ﬁﬁﬁgqgf
(A) 1965 (o) I
(c) 1991 e, 202 ':Wrrm?
10, R O
et @0 B e
(A) TE T (D) AT
() s P
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i

15.

16.
17.

18.

19.

20.

21.

World No Tobacco Day is celebrated every
year on

(A) 2™ June
(B) 3" April
(C) 31%May
(D) None of the above

When IT Act, 2000 came into effect ?
{(A) October 17, 2000

(B) November 11, 2001

(C) October 17, 2001

(D) November 11, 2000

Marked price of an article is Rs. 275. Shopkeeper
allows a discount of 5% and he gets a profit of
4.5%. The actual cost of the article is

(A) 250 (B) 210

(C) 225 (D) 215 %ﬁ‘g

How many odd days are there from

1¥ January 2011 to 31 December 2015
(both day included) ?
(A) Six

(C) Four

(B) Five
(D) Zero

scheduling employs a technique
called time slicing.
(A) Shortest Job First (SJF)
(B) Round Robin
(C) First Come First Served (FCFS)
(D) None of the above

A mixture of 20 kg of spirit and water contains
10% water. How much water must be added to
this mixture to raise the percentage of water

t0 25% ?
(A) 4 kg (B) 30kg
(C) Skeg (D) 8kg

Who called architecture of Aihole as “Cradle
of Indian temple architecture” ?

(A) Huan-Tsang (B) Sulaiman

(€ Pircv Brown (D) Max Muller

ZBY 7
mﬁ&ﬁw letters that sho

ace the question marks ?
m M

15,

16.

17.

18.

19

20.

21.

22,

i

CMES - 54

fava darg Fvy faam ufs ad
AR |

(A) 2™ 34

(B) 37 &

(C) 31" ¥

(D) FuTraa | & Frd A

i sifufan, 2000 F4 @ g 7

(A) 17 31FZaR, 2000
(B) 11 &7, 2001

(C) 17 31Fgaq, 2001 g
(D) 11 9@, 2000 i

T T H1 3ifha o4 %, 275 3 | gHEEH I
5% it G2 a1 & 3N 37 4.5% @y fawen B, @

T #F arafas ara #7187
(A) 250 (8) 210
(C) 225 (D) 215
19998 2011 § 31 f3@at 2015 7% a1 faum
fem i (At fam wfthfera £) 72
(A). 3 (B) 9=
E1td (D) =
__ Yiggfan G aFAE o @ e 2w
TS eEd § |

(A) TTER Wi S& (SIF)

(B) TSe e

(C) $& 1 & wdg (FCFS)

(D) 3 & & 1 T

fafz i ot % 20 kg ¥ fsor o 109% T 2 |
o foran ol wr fremn sfte aifs o =
wfcrerd 25% & sma ?

(A) 4 kg (B) 30 kg

(C) 5kg (D) 8kg

o Qeren ) e s s i e
FIFH A FE R ?

(A) §EH-c|m (B) getWH

(C) 9l s, (D) B geert
AZBYDWGT??

SR e H W g ¥ v qu -2 2
IR EM 7

(A) LP (B) LM

(C) kP (D) KO
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What was the rank of India

Hunger Index, 2020 > 'n the Globa
(A) 94" ? s
(C] 3g ( ) 1024

(D) None of the a,
y Ova
24, What is the number of p,
cube can be cut by five c%'fsc?rf tl;:.to Which 4
e di

?2? .rﬁven cuts in anc:athe(rﬁgin.;;.gn.on S feCtign
(C) 48 (D) 12
25. In Microsoft Excel to drag the selected cgj|
: a different sheet, hold down the =k ; to
iram drag the selected area onto the sheet iabm nd
(A) Enter (B) Alt |
(C) Shift (D) Ctrl

26. Military exercise of JIMEX is associated
between India and

(A) Bangladesh
(C) China

(B) Us
(D) Japan-

27. Which of the following is true about KYC ?

i. The Reserve Bank of India advises banks
to make it mandatory for opening
accounts.

jii. Its full form is Know Your Customer.

iii. Low income group customers are )
exempted from submitting KYC. ¢
(A) Onlyiand iii (B) Onlyiiar
(C) Onlyi (D) All th&‘ ae
28. If 18 pumps can raise 2170 tonnes of water in

10 days, working 7 hours a day, in how many
days will 16 pumps raise 1736 tonnes, working

S hours a day ?
(A) 9 (B) 6
() 7 (D) 8

29. The following become meaningful words, if
two letters interchange their places :

I. LETRET . MIDELD
4 1il. VISNO! \V. PERDOI

to be interchanged are

3.

24,

25.

26,

27.

%?
zo-zoiiﬂTf""E’;‘;‘mmap:ﬂ
v 98 (8) 102 o3,
. E |
(A) 963 (D) Wﬁgjaﬂﬁ
(C) 38 fagn | 19
4
(A) 14 (o) 12
(C) 48 Frq B # 0P
i
;nwﬂdﬁ*wﬁfg
qw @t | (B) Alt
A A6 e
* d4
JlMExW'g"’a' < ahai
. %l
‘(';': . (B) ITH
A
() (D) ?
O o i Pt 8 @ F EA R

e e, Ft 1 e i 3 o

)

mmﬁﬂmé‘m%%l
i1, a1 ®Y A1 A FEALE | )
i, o8 o 7 35 T 1 e 9 A B

wATWR
(B) A ii 3 i

(A) e i ST ii
(C) Faa i (D) @t i

3f 18 99 yfife 7 s 7w =k 10 i § 2170
It 91 W §, N 16 U9 G7 H 9 W2 W W
o fot & 1736 o serdn ?

(A) 9 (8) 6

€7 (D) 8

-ﬁtﬂmmmwmm%mﬁaaﬂt
-“t" ﬁ:gr Il. MIDELD
. visn :na?f - I\é PERDOI
T o &R

i Eguge b
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31,

32.

33.

35.

In 2 galvanometer 5% of t!’te total cur.r;:u:‘ (1:2
the circuit passes through it. If the re:;stance
of the galvanometer is G, the shuntre

§ connected to the galvanometer is

(A) 20G (B) 196G
/ G
© %o R
Section 304 of CrP.C. deals with B%®

(A) Order of release

{B) Protection of accused .

(C) withdrawal of accusation

(D) Legal aid to accused at state exp
certain cases

ense in

< thrice as fast as

is twi fastasBandBi ;
2 e % hours will

C is. The journey covered by Cin 1
be covered by A in
(A) 1 hour

{C) 20 minutes

(B) 15 minutes

(D) 30 minutes
Critical angle of glass is 6, and that of water
is 8,. The critical angle for water and glass
surface would be (“g - 32, Py = %)

(A) less than B, (8) between 8,and 6,

(C) greaterthan®, (D) lessthan 6,

Who was the flag bearer at the opening
ceremony of the Tokyo Paralympics, 202~

(A) Bharatbhushan  (B) Bhavinabe  atel:
(C) Sumit Antil (D) Tek Chand .
Water logging in soil is avoided by use of

(A) Potash (B) Manure

(C) Zinc (D) Calcium

The ratio of the amounts of A and B js 4 -
the sum of their amount js Rs. % fivahnal:

amountin g £
ratio1:1 ?rupees MhouidA EiveBto Mmake the

(A) 50 (B) 1

@ 20 o) 100
Which of the following State Grue..
launched a special rgnist:lg: ki
Vatsalya” in order to help y
their husbands to COVID-19 7
(A) Maharashtra. (8)
(C) Kerala

(D)

30.

31.

32.

33.

34.

35.

36.

37.

CMES i

Y
ﬁqﬁquﬁ@%m
S ® Pt s o
m:frdlztﬁw uie I‘l}si ’
(A) 206G (B) 196G
(€) %9 %{?) _%0
syredrelt 1 w701 304 FRerd i 3
i
&+l
(D}ﬁmq SRUEZRAELE 375
A Bﬁma’ath,Cﬁ%q}i:
Cgr 1% 92 B @@ T A6 A
e fan wme 7 |
(A) 18 (B) 15 fimz
(c) 20 fFe (D) 30f=
ﬁhﬂmmelamﬁ?{es
- 3N I 3 TS 1 H(0% 310 77
=% #w=%)
(A) 6,8 FH (B) 0, 33
(C) 0, it (D) 8,3 7%
Pt e, 2021 ¥ 3gETe TR
I FH Y ?
(A) e (B) Wit
(C) gftra sifaer (D) T
I
(A) Trer (B) WR
(€) o (D) ¥
Amﬁﬁuﬁﬁmwazsﬁfﬁ
TR A 5. 7002 | A, B A T
mw&ml:lﬁm?
Ly Ly g
E-19 # 3173 it w1
mmﬁ;“:%’m“mﬁ;f
o “ferer ey’
(CI%{H (D) mﬁﬁ
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38.

39.

41.

42.




5 Damaging stage of lo

R v e
~ (C) Ege () Ni;terniliars
T Mphs
5 I rtain code, * nd aq
ﬂ) ff_iﬂace' e, BRI . 4 Ulte
= 1GBDERI, then how wij 7 CE IS wyi
in that code ? [ LESSO'\?‘T:;T 8s
(A) OSLNES (8) Fitte,
(C) OLSENS OLSNgg
(D) o
default, Mi f1 NSk
4. Byde » Microsoft worg (2003
are saved with exten5>;c,r}"-ﬁf(3cuﬁmgmS
(A) .doc (B) .txt
(C) s (D) .ppt
A The number of diagonals in a Octagon wi
|
() 16 (8) 28 ee
{C) 20 (D) 10
g, Which one of the following

is Not an exam
of lgneous rock ? Ple

(A) Basalt
{C) Gabbro

(B) Granite
(D) Limestone
Who is the Vice-Chancellor of Lala Lajpat Raj

University of Veterinary and Animal Sciences
situated in Haryana ?

4.
E (A) Harbajan Singh.  (B) Gurdial Singh -
(C) Ranapratap Singh (D) Arbindo Sir
. The volume of the cylinder whose heiy, .. is
14 cm and diameter of base 4 cm is
(A) 352 cm?® (B) 176 cm?
- (g 196 cm? (D) 276 cm’

In a certain language, PYRAMID is coded as

(B) 119417
(D) 111947

Downloaded from www.cclchapter.com

40,

41,

42,

43,

45,

46.

v"'

CMES -S4
ot ) miPrapTees 3T

:f:m;ﬁ (B) Fzfrem

(C) (0) Few i zares

v Fyfvera g2 #, 'BRIDGE’ #1 ‘GBDERY forman
v B a.quﬁmsssowmam%mm ?

(B) OLSNES

i€} EseMs (o} OLieses

ZEAT fapiez
el @€ (2003) AR 18
fiearooy % wra giieEa #1d 2
(A) .doc (B) .txt
(C) xIs (D) .ppt
wwﬂﬁwﬁ#mm
(A) 16 (B) 28
(C) 20 (D) 10
et § @ FA-T1 T FE FTZH F
RO AL ?
(A) THEE (8) e
(gl (D) = T
?gﬂmﬁﬁammwmmﬁﬁm@
mﬁmqﬁﬂﬁmm%sq—@vﬁm%?
(A) T foR (8) TR T
(C) Tomyamd fas (D) fE= faw

36 A 1 A v Samd 14 Tt 3 3w
15419 40T B
(A) 352 &
(C) 196 |

s fAfesa s, PYRAMID & 16251811394
¥ ¥ # gewg fan T R}, DEAR F1 45118
Feag R s, MKINGH _ F&ad
Fearg, fomar smam |

(A) 191147 (B) 119417

(C) 119147 (D) 111947

Y U . URA. (WML) il Haerdl &
(A) arer wrhay S

(B) araery mifd

(C) & i St

(D) A% wrhary s

(B) 176 |
(D) 27631

.
ﬁ .



47.

48.

50.

51.

52.

53.

Uruguay Round negotiations are related to
(A) UNCLOS (8) WTO
(C) BRICS (D) SAFTA

Cyclical changes during reproduction in ¢
are called

(A) Asexual cycle
(C) Menstrual cycle

owSs

(B) Oestrus cycle
(D) Sexual cycle

A number exceeds its one-seventh by 84. The
number is

(A) 14 (B) 12

(C) 196 (D) 98
The Great Depression began in

(A) 1920 (B) 1926 -
(C) 1948 (D) 1929

Neena returned house after 3 days earlier than
the time she had told her mother. Neena's sister
Veena reached five days later than the day Neena
was supposed to return. If Neena returned on
Thursday, on what day did Veena return ?

(A) Sunday (B) Friday

(C) Saturday (D) Wednesday

Which of the following is the water
conducting tissue in plants ?

(A) Collenchyma (B) Xylem
(C) Phioem (D) Parenchyma

Complete the following analogy :
20:11::102:7?

4 (AJ 49 “a  (B) 98
(C) 52 (D) 61
sends the appropriate funds for the

(D) None of the above

transaction to the Credit Card Network which
passes the funds to the Merchant'’s Bank.

(A) International Standard Organization
(B) National Merchants Assoclatlau
(C) Indian Customer Association

55. National Bank for Agricultu

47.

49.

50.

51.

52

53.

54,

=R iOCE
(A' mﬁ.ﬂ-ﬁ-ﬁ@ (8) -.‘t"{"',.
(c) fr@ W3,
Fraa bl - -
() ST TF .
[C] =HF fDJ :}."r"‘; TF
e 58455
(A) 14 9 12
(C) 196 (D) 98
wEH el __ AYEE
(A) 1920 (B) 1926
(C) 1949 (D) 1929

1 SO BT P FAC B F A
Szt 2 | e A A A o T
mmmmﬁaasﬁqu ey
Wﬁﬁﬂ,ﬂ"ﬂﬁaﬁ?aﬁ‘—
(A) TR (8) TFar
(c?ﬁrﬁmt (D) =R

P & & -8 T & v T

(A) FIATRIZAT (B) V=W
(C) wATH (D) ¥=mm

Frafaiaa geeaa o fifs
20:11::102:?
(A) 49
(C) 52

vl

(C/]
¥

A
Ll

(B) 98
(D) 61

v Pt ) e
3T ¥ o B, = il @ S E
WS R |

(A) e qre TiraA

(B) T =Ty wwifiyuy -

(D) ST & | #rd 7
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generation of diversity 5

: dt
giversity by environmen, he s

api

al Bk

seiechof\ is o::lftthE
ed

(8) Evolutigy
() Remodu(h‘o
n

| g, Biodegradable polymer among gy, ¢
I.I. (A) Nylon-2-nylon-6

| (8) Neoprene -

(€ Melamine polymer

(D) None of these

i : - (A) Trans gradation
.~ (C) Degradation

OHOWinB k

®
i
g3, Steam Engine developed by —_in17
was the landmark of industrialisaﬁm_
(A Ferdinand Cohn (B) George StEDhemon
(C) James Watt (D) James Hargreayes

59, Select the correct'mirrer image of the given
figure wher; the mirror is placed at line AB.

 ——
coviD-19
SIOWN
B

et -QIV0d o
() jlwoaxas MWOMO0J
(© R (D) None of

WWG0XD0J

AutoShapes contain several categories of

Basic shapes
vchart elements

e S
‘-_ A

A ! g ' -5 o
Downlo %eﬁ from www.cclchapter

56 ﬁﬁ‘mﬂﬂwmfmmmw
mﬁﬁuﬂﬂmﬁm
s gt 18 (D) T
57, W“ﬂ'*""_’ﬁ _ad
(A) FTAEAA-2" &
(8)
(C) §
(D) 7t @ F1E 7 Fera-
58. 17?3ﬁ_?ﬂ_é_ﬂ§:;m’am““[ e
# L2l e
Tjamﬁ%w‘m i
() I ar (D) 8 TR
59. ﬁﬂiﬂﬁﬁ'ﬂmm"m”gﬁqﬂmﬁ

@qu-((;mmﬂ!%l

=)

B
er-aivod B er +aivoo
(© l,",,,,'n:mm (0) T & 7

60. FRIIE ¥ rpfadl Y & At @t ¥ e
_ whm#
(A) 3muR sTRfaat
(B) YRR T




' sorkers iﬂ a 62_
_oe salary of
o average
~tal number

his Father’s 63,
after 9" April,

mbers that
or after

whereas his 250 il is definitely

65.

e
(8) TS Feid 75.

(D) I H | FI§ TE

66. TN % @ §, GEORGE I MARY ¥ 711 %7
#), Safih TED T ANN, EDNA, JOANT A&
A T Tt A 9| I
(A) ANGELA (B) JOAN
(C) EDNA (D) ANN

67. aqiafgaasmmmw%
(A) TITHTR -

: (C) Ve

b J
iy -k

By e FAPE e

ves the e ¥ U A
Il in its gﬁg%amm@ ﬁmﬂﬁ“
Right ((3 m@?;m o &
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" e fertlisation and deveiop,
| L .im :;ttirnai (B) Both f?ogs are
i e 3 :
(D) None s nd (g,
thege

" which ity is called as “Manche.
_ et or)

(A) yokohama (B) Fukygy Wane ;
(€) Kyota (D) Osagy
 Wwhich number will come in the
- " question mark ? Place of
e 8(97)6, 4(56)5, 6(75)4, 7(?)8
: ' (A) 88 (8) 98
(C] 97 (D) 89
f A Metalloid among the following is
(A) Lead (B) Telluriym
{C) Aluminium (D) Tin

. Which one of the following pairs of gases 5
the major cause of ‘Greenhouse effect’ ? )
{A) €O, and O, {B) CO, and CH
() CFCand SO, (D) €O,andO,

% The world’s second largest producer of fruits
and vegetables is
(A) Israel
(C) Australia

(B) India
(D) Srilanka

% Ifthe State Government dissolves the
. Panchayat before the end of its ter
~ elections should conduct within
its dissolution.

(resh
of

(B) 1year
(D) 9 months

o Y %@
5 -;P‘aﬂﬂary inheritance and the ¥
ty of all resources is known 25

| calamities (B) Bio-diversity
" (D) Global warmi®

' - al mark
following is an offici e

made of precious
umetc.?
(8) wallm e JbOVe

,. (D) None®

70,

71,

72,

73,

74,

75.

76.

78.

CMES - 54

i i e Bl 2
Ti?ﬁ;aw (@) (A) 3 (c) 2t
() ameht (p) i @ F T

L} a ?
firn et ”:mmmq:%'m a:;rﬂwm X
(A) avrEr (8) %
(C) Fawe (D) FEE
W—rf%rrﬁamﬁqtmﬁﬁfn"lémuﬁfﬁ ?
8(97)6, 4(56)5/ 6(75)8, 7(?)8
(A) 88 (B) 98
(c) 97 (D) 89
Frferfia # @ 399TG 2
(A) € (8) Zefam
(C) Wﬁﬂ (o) =

(A) co;ﬁ"s (B) COZﬁTCH‘
(C). CeG #R SO (D) co,3ro,
mewqﬁﬁlaﬁmﬁ%
(A) FRIEA (8) R
() s o e
af =g e e daTa 6 e wEty
U B F TE T A1, 9 36F 9 EH
¥ a1 Pt arafly 3 st g e =i ?
Wi (B) 13d
b (D) 9w
FEATA S |
(B) ta-fafaua
(D) Afvas amA



Identify the true statements about Speaker of
Lok Sabha.
(A) He maintains the dignity and decorum of
the house.
(B) He cast his deciding vote when a bill
gets equal number votes in favour and
against of it,
(C) He is elected by the members of the
Lok Sabha.
(D) All the above

(D) None of the above

79.

Wma;aﬁﬁaﬂwﬁﬁqﬁmﬁl

s 6t 7T 3P ST T T
::: ?smwmﬁmﬁﬁﬂ.%
faret 1y 3 e SR Fe 3 W e i

are faera & |

(D) Fuira @t

[ 2 1

80. ‘The Darwin of the 20™ century’ was ﬁ go. ‘20 yaredt F =l F2 'Grﬁa;g;_&f g

(A) Dan Brown (B) Ernst Mayr . (A) & 5T (8) :

(C) Robert Coch (D) Albert Ainstein (C) T #rd (D) ¥ ¢ st

R . : I 9734 (WHO) =

81. Who among the following is appointed as the g1, faafafiaa # & ford fawa

first Chief Scientist of World Health Organization gen e At frga faan 27

(WHO) ? (A) fiem 7

(A) Neelam Kler (8) =Ifet . T

(B) Kamini A. Rao-

. (c) Hren @AY
(C) Soumya Swaminathan (D) 37 EEN a»?l'{qﬂ

82. The total number of members appointed by 82. usgufy g usTEwl # fog g geet i 3w
President to Rajya Sabha is T 8
(A) 12 (8) 06 (A) 42 (8) 06
(C) 05 (D) 01 05 (D) 01
83. 1-12-91isthe first Sunday. Whichis the fourth | 83 4-12-91 =\ wge tfam a1 | Rdax 91 =1
Tuesday of December 91 ? | WTHER %6 B 7
(A) 31-12-91 () 17-12-91 (A) 31-12-91 (B) 17-12-91
(C) 24-12-91 (D) 26-12-91 (C) 24-12-91 (D) 26-12-91
84. The percentage of animals species are 84. i 7= TiAifan fig wenfagi <t whsraar
r(e(i‘olrged sothr (A) 10% & ferr
A) More than 10%
(B) More th:: 50% - (B) 50% & aifern Ok A
(C) More than 70% (C) 70% & iy %';%‘
(D) More than 30% (D) 30% @ stfirF .
85. E:n::ge;lth;ifouov:ing statements about 85. ‘gEFR I % aR H Fraferan wert w faw |
:A: t.‘.:':ia,:’s;za(sje. | I.T{?ﬁwmﬁﬁﬂ’fﬁﬁmm
otifiable disease is any disease that ittt 1 gfa fra s 2
is required by law to be reported to . pelislcdl
government authorities. Il. WHO & it wamees fafamm, 1969
Il. International Health Regulations, 1969 a1 e Frre she s Wt wfe
of WHO requires disease rep g to WO 7 & T WHO %t e et
i w:;ao in °$erévol:elp with its global el 8 |
_m’“'“m* mhtomn_mg le. fe g et 3 @ et forarew i |
{A)Both the stateiman S (A) e | 3 1| Bt v &
0th the statements |
(B) Only statement | is (B) e e | e
(C) Only statement |1 s (C) o HY | weg B
(D) Both the statement (D) e | 3R 11 3 wew &

N

2 1
W
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86. People who come to
scheduled event are f::her for 3 TeRula
(A) Crowd sourcing g 1
(B) Acting crowds
(C) Conventional crowds

(D) Casual crowds

87. When the price elastici
than one, Marginal Re
(A) Positive value

(C) Decreasing value

tV Of det‘na .

nd is
venue has 3 More
(B) Negative slope
(D) Constam value

leetﬂOr'l Q. No. 88 - 90 : Study the following
information carefully and answer the questions
given below :

fﬁ Q, R, S‘. T, V, W and Z are eight friends studying
in three different engineering colleges - A, B and C
in three disciplines — Mechanical, Electrical and
Electronics with not less than two and not more
than three in any college. Not more than three
of them study in any of the three disciplines.
W studies Electrical in college B with only T who
studies Mechanical. P and Z do not study in college C
and study in same discipline but not Electrical.
R studies Mechanical in college C with V who studies
Electrical. S studies Mechanical and does not stv
in the same college where R studies. Q dor ¢
study Electronics. ;

88. In which discipline does Q study ?
@ (A) Datainadequate
| (B) Electrical
(C) Mechanical
(D) Electrical and Mechanical

89. In which of the colleges at least one student
studies in Mechanical discipline ?
(A) Aonly (B) AllA,BandC
(C) Bonly (D) Conly

90. Which of the following combinations of

-college-'student-specialisatlon is correct ?
: (B) C-R-Electronics

(D) B-W-Electronics

(A) B-W-Electrical
A-ZElectrical
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88. QM-I fawa Tga1 8 7

(A) S Iy &

(B) Feifdeart

(_C). e

(0) wifia siv Hfrare

89, FH-3 Ferat o o  wm foremeff Hpforee
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90.
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91.

92,

93.

95.

NI A ol

English Language

Choose the right synonym of the given word.

DECORUM
(A) Demise
(C) Conclusion

(8) Forgery
(D) Decency

Fill in the blank with right form of the word
given in bracket from the alternatives given

below it

Healthy young women of great beauty and
tastes are honoured everywhere

(delight).
(A) delightedly (B) delight
(C) delighted (D) delightful

The given idiom followed by four alternative
meanings. Mark the one which you think is
the most appropriate.

Put one’s foot down

(A) to do something stupid

(B) to be firm in opposing something
(C) to demand

(D) to take rest

The following sentence contains gramr  _al
error or idiomatic error in it. You has  _ find
out that part of the sentence and ¢.._ose the
alphabet of that part as the answer.

India needs win the battle of minds within the
country before trying to justify itself in the
eyes of the world.

(A) No error

(B) India needs win the battle of minds

(C) within the country before trying

(D) to justify itself in the eyes of the world

Fill up the blank in the following sentence
using the verb forms of the worqg given in
bracket from the alternatives given below it.

Dew-—r——-e "MQ‘S!’_ the grass at ]
(A) moistish e

96.

97.

99.

100.

o

(A) EwTEATd
(8) ad
() weerd
(D) T & #18 &

Ryl F4a YFAFE |
(A) 9TE

(B) &

(c) &

(D) SR

A) ¥
(B) ARG
(C) it
(D) 38 & #IE 7

Y52 F ITEOTE |

[ i u.'l.ll_"llh.- i

A - =ieE! & v 39 =1

S HEd § |

(A) T

(B) 37wy

(C) W

(0) 78 & ¢ 7

s 31 1 fofr e 1 1, w0

FEa ¥ |
(A) 318y
(B) aifafy

e (C) e

(D) 78 & %

R

1AL
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